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With ;79%on 37¥; and according to R"'9 — RO TYHR 929 700 YTYR

OVERVIEW

The &1 concluded that we only include 131277 *2109 in the similarities between *0°x
0°72y 1w 2°wi. The 9100 of MR is also only 132777 since P8 77°01 TV were
also present. This Xn>72 is following the opinion of X"7 who maintains 7°07 7V
°n73. Obviously this &n212 does not follow the view of »"7 who maintains 72°n1 >7V
°n72. This presents certain obvious difficulties that n1vo1n will address.

mooIn anticipates the following difficulty:

= YN YINN 229 992799 2INPT 2) UY 9N
Even though the Xn»921 states ‘that according to »''9 there are four’ ways in
which 0’72y 11w o°w1 °v°) are similar. According to »"7 who maintains °n72 772°00 7Y we
cannot include the 7109 of MRIY, since it is a X787 2109, The X3 just mentioned that we do
not include Xn»MX7 705, The question is how can the Xn»92 say 7v2I82 2" "M270); even
according to n"1 there are only three similarities, since we cannot include NIR37Y?

mooIn responds: When the X913 states y2782 n"7 °M2721, we do not mean that according to 7"

himself there are four similarities; rather -
- YN NN 295 9207 INIY 9INP 29N

This is what the Xn3 intends to say that according to the one who agrees with

»'"9 that it 1s a 217 for an 72V to be freed, there will be four ways in which w1 v’
72y "MW are similar (provided that this same Xin also agrees with X" that *n73 77°0n *7Y).

mooIn explains another difficulty:
= AN SVIVNRY NI NN 2299 NIN 1) ©7UN 9INPT NN

And similarly concerning that which the x»s asks,! ‘However according to
n'"9, what does the number four exclude’. The previous question of npo1n applies here
as well. How can the X713 ask ‘according to »"7 etc.’; the X012 does not follow the opinion of

1" (concerning °n73 »"v)?! When the &n»92 stated 7y27%2 »"1 212721 we just concluded that it
does not refer to n"2 himself, only to a X1n who agrees with n"9 concerning 131 72¥% X177 21, why

then does the X723 (seemingly) ask on 72"9 himself whose opinion is not followed in this X272

mooin replies: The &3 did not intend to ask a question directly on »"9 himself, rather -
$9NNP YONM 2295 4307 INIY

! Previously on this Tny.
* See ‘Thinking it over’.
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The X713 meant to ask the question on the one who agrees with 2''9 concerning 21
91 72v% Ry, This 7"n includes the first three similarities (because he agrees with X"9 concerning
’n7> 77701 *7Y) and he also includes the fourth similarity since he agrees with 11 concerning 211
491 72¥% X17; according to this 7"», what does the number ‘four’ come to exclude.

SUMMARY

When the ¥n**72 and the X773 mention 1" (2" 12797, and n"Y% XPX respectively),
we are not referring to n" himself, but rather to a X1n who agrees with n"9 that 217
51 7297 X177 (however this Xin sides with X" that >n12 »"y).

THINKING IT OVER

It appears from moon that even after the first question was answered; namely that
we refer not to »"7 but rather to the XIn who agrees with »n"9, still we may ask
mooIn second question,” even though the answer to the second question is exactly
the same as the answer to the first question. Explain how the second question may
be asked even after the first question was answered.”

3 See footnote # 2.
* See 1"ax # 189.
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